BAR-PAR-ER RE—E

01 I EHZ 5

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EH HiiE Eam)  BAGADH) #%E

Al th R TA¥ 1.6

A2 AR TA¥ 2.1

B1 AR AXIY 25

B2 AR Ay 25

B3 AR AXIY 25

B4 AR AXIY 25

B5 =mA A5 32 0.30
B6 =mA AR5 41 0.57
B7 =R AXIY 42 0.53
B8 =R AXIY 40 0.40
D7 =P YINF 48 0.84
D2 R YINF 2.8

D3 R YINF 2.8

D4 R YINF 2.8

D5 R YINF 2.5

ET1 =R XUEIEA 5.2 0.45
el =R ) A 48 0.70
E2 =R XUEIEA 5.2 0.60
e2 =R ) A 42 0.70
E3 =R XUEIEA 48 1.05
E4 hR FUEYEA 2.9

gl = A Rty 11.0 1.50
g2 =R 7Y 10.0 1.35
J1 =R JOH+EF 8.8 1.30
J10 =R HAaOHREF 8.5 1.10
J2 =R JOH+EF 75 0.80
J3 =R JOH+EF 9.2 1.10
J4 =R JOH+EF 6.0 1.20
J5 =R JOH+EF 75 1.20
J6 =R JOH+EF 7.8 1.00
J7 =R JOH+EF 7.7 1.10
J8 =R JOH+EF 85 1.00
J9 =K YO8 ~EF 85 1.10
K1 = HHoh 3.7 0.30
K2 = HHoh 3.7 0.30
K3 = HHoh 3.7 0.30
K4 = HHoh 3.7 0.30
K5 = HHoh 3.7 0.30
K6 = HHoh 3.7 0.30
K7 =A HHoh 3.7 0.30
K8 =A HHoh 3.7 0.30
pl AR NFEXF 2.9

p2 =R NFEXF 33 0.30
p3 = NFEXF 33 0.30




BAR-PAR-ER RE—E

01 I EHZ 5

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EHR HiiE Eam)  BAGADH) %

p4 =mA NFERF 3.7 0.45
wi =mA Eyay 35 0.40
wio K Evasy 29

wit =mA Eyay 34 0.59
w2 =mA Eyay 38 0.45
w3 =mA Eyay 3.0 0.30
w4 K Evasy 2.8

w5 K Evasy 1.8

w6 hR Evay 24

w7 hR Evay 1.6

w8 hR Evay 2.2

w9 hR Evay 2.3

X1 =R YIEE 6.5 0.60
LM = A HhAIhA4Tx 3.0 0.80
LMo =R HhAIhA4Tx 3.7 0.80
LM100 =R HhAIhA4Tx 40 0.80
LM101 =R HhAIhA4Tx 42 0.80
LVv102 =R HhAIhA4Tx 44 0.80
LV103 =R HhAIhA4Tx 38 0.80
LM104 =R hAIh4T+ 41 0.80
LM05 =R hAIh4T+ 40 0.80
LV106 =R hAIh4T+ 42 0.80
LM107 =R hAIh4T+ 40 0.80
LV108 =R hAIh4T+ 42 0.80
LM =R hAIh4T+ 3.7 0.80
L2 =R hAIh4T+ 35 0.70
LM3 =R hAIh4T+ 34 0.80
L4 B R hAIh4T+ 2.8

LM5 =R hAIh4T+ 33 0.80
LM16 =R hAIh4T+ 35 0.80
M7 =R hAIh4T+ 35 0.80
LMi8 =R hAIh4T+ 35 0.80
L9 =R AT hA4T+ 40 0.80
L2 =R hAIh4T+ 3.0 0.80
V20 =R AT hA4T+ 3.2 0.25
Lh21 =R AT hA4T+ 36 0.80
Lh22 =R AT hA4T+ 33 0.80
LV23 =R AT hA4T+ 36 0.80
(V24 =R hAIh4T+ 3.2 0.75
LV25 =R AT h4T+ 35 0.25
LV26 =R HhAIh4T+ 46 0.90
Lh27 =R hAIh4T+ 36 0.80
LV28 =R AT h4T+ 38 0.80
LV29 = hAIh4T+ 4.0 0.80




01 I EHZ 5

BAR-ARER

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EHR HiiE Eam)  BAGADH) %
L3 = A hAIh4Tx 33 0.80
L)30 = A hAIh4A4Tx 40 0.80
V31 = A hAIh4A4Tx 40 0.80
LV32 = A hAIh4Tx 35 0.80
LV33 = A hAIh4A4Tx 35 0.80
1134 = A hAIh4Tx 38 0.80
LV35 = A hAIh4A4Tx 36 0.80
1136 = A hAIh4A4Tx 38 0.80
LV37 =R HhAIhA4Tx 35 0.80
1138 =R HhAIhA4Tx 40 0.80
LV39 =R HhAIhA4Tx 3.7 0.80
L 4 R HhAIhA4Tx 2.8
L 40 =R HhAIhA4Tx 3.7 0.80
L4 =R HhAIhA4Tx 3.4 0.80
L 42 =R HhAIhA4Tx 36 0.80
L 43 =R HhAIhA4Tx 39 0.80
L 44 =R HhAIhA4Tx 3.7 0.80
L 45 =R HhAIhA4Tx 3.7 0.80
L V46 =R HhAIhA4Tx 35 0.80
L 47 =R hAIh4T+ 35 0.80
L V48 =R hAIh4T+ 33 0.80
L 49 =R hAIh4T+ 38 0.80
L5 =R hAIh4T+ 33 0.80
LV50 =R hAIh4T+ 36 0.80
LV51 =R hAIh4T+ 39 0.80
LV52 =R hAIh4T+ 35 0.80
LV53 =R hAIh4T+ 38 0.80
L\54 =R hAIh4T+ 36 0.80
L\55 =R hAIh4T+ 3.2 0.80
L\56 =R hAIh4T+ 35 0.80
LV57 =R hAIh4T+ 38 0.80
L\58 =R hAIh4T+ 3.7 0.80
LV59 =R AT hA4T+ 39 0.80
L\6 =R hAIh4T+ 35 0.80
1160 =R AT hA4T+ 40 0.80
LV61 =R AT hA4T+ 40 0.80
LV62 =R AT hA4T+ 36 0.90
LV63 =R AT hA4T+ 35 0.90
L\64 =R hAIh4T+ 35 0.90
LV65 =R AT h4T+ 35 0.90
L 166 =R HhAIh4T+ 36 0.90
LV67 =R hAIh4T+ 38 0.90
1168 =R AT h4T+ 4.0 0.90
LV69 = hAIh4T+ 4.0 0.90




01 I EHZ 5

BAR-ARER

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EHR HiiE Eam)  BAGADH) %
LV7 = A hAIh4Tx 33 0.80
L\70 = A hAIh4A4Tx 40 0.90
LM = A hAIh4A4Tx 40 0.90
LV72 = A hAIh4Tx 40 0.90
LV73 = A hAIh4A4Tx 38 0.90
L\74 = A hAIh4Tx 38 0.90
L\75 = A hAIh4A4Tx 38 0.90
L\76 = A hAIh4A4Tx 3.7 0.80
LV77 =R HhAIhA4Tx 35 0.80
L\78 =R HhAIhA4Tx 36 0.80
LV79 =R HhAIhA4Tx 36 0.80
L8 R HhAIhA4Tx 2.8
LV80 =R HhAIhA4Tx 35 0.80
L 81 =R HhAIhA4Tx 36 0.80
1182 =R HhAIhA4Tx 38 0.80
LV83 =R HhAIhA4Tx 38 0.80
1184 =R HhAIhA4Tx 35 0.80
L\85 =R HhAIhA4Tx 38 0.80
1186 =R HhAIhA4Tx 38 0.80
LV87 =R hAIh4T+ 39 0.80
1188 =R hAIh4T+ 35 0.80
LV89 =R hAIh4T+ 40 0.80
(AY:) K hAIh4T+ 2.9
LV90 =R hAIh4T+ 42 0.80
LVo1 =R hAIh4T+ 42 0.80
LV92 =R hAIh4T+ 43 0.80
LV93 =R hAIh4T+ 43 0.80
1194 =R hAIh4T+ 44 0.80
LV95 =R hAIh4T+ 44 0.80
L\96 =R hAIh4T+ 43 0.80
LV97 =R hAIh4T+ 42 0.80
1198 =R hAIh4T+ 44 0.80
LY99 =R AT hA4T+ 40 0.80
& =R EXSVRAYE 13.0 1.50
(%1 =R sa<wy 9.5 1.10
(%2 =R sa<wy 6.0 0.52
(%3 =R sa<wy 47 0.76
(%4 =R sa<wy 33 0.35
(%5 =R sa<wy 6.7 0.75
A1 =R AXIF 5.0 0.53




HiE-T% FAE—EXR
01 R EE#Z D
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF
No TR BiE =1 =(m) EE(n) fr K 5 E () &=
11 R AXYY 2.0 46 29.4
B Rk |BiE 0.7 64.0 155.0 |22 270+ 7T TIET
1 EX YYD 05 19.1
10 R AL AP 0.7 15.1 234
S 11 EXR WAVE VAP 0.3 60.7
512 EX HUXxIYD 0.5 30.2
13 ER AL A% 0.3 15
14 EXR VAL AP 0.3 2.7
15 EX wAVE VAP 0.3 3.0
16 EX AL A% 0.3 15.8
H17 AR AL AP 0.3 3.5
18 R wAVE VAP 0.7 22.2 32.8
19 R LA 0.7 111.8 1443
2 R AL AP 0.7 495 56.2
420 EAR YUy D 0.5 1.3
21 EX HUxUUD 05 15
22 EXR LA 0.4 1.6
23 K I IID 10 99.4 125.0
24 EX HUXxIYD 0.3 1.2
425 EXR AL AP 0.5 17.3
26 EXR VAL AP 0.4 94.3
27 EX wAVE VAP 0.4 8.3
28 EX AL A% 0.3 421
429 ER AL AP 0.4 7.2
3 R WAVE AP 0.7 67.9 89.7
430 R YYD 0.7 50.3 60.7
31 EXR AL AP 05 2.5
32 EXR WAVE VAP 0.5 31.9
433 EX HUxUUD 0.5 13.9
34 R LA 0.8 22.7 49.7
435 EXR I IIT 0.5 438
436 EX YYD 05 4.1
37 EX AL A% 0.3 18.0
+-38 ER AL AP 0.5 10.0
439 EXR wAVE VAP 0.3 36.1
4 R YUY 0.8 22.1 34.4
40 ER AL AP 0.4 10.0
H41 EXR wAYE VA 0.5 14.4
42 EX YYD 0.3 29.3
43 R AL AP 0.6 108 16.7
5 EXR I IID 0.5 34.4
6 R YYD 0.6 20.1 31.2
vl R LA 0.8 14 5.2
+8 R AL AP 0.9 72.8 112.8
9 R wAVE VAP 0.6 448 56.6
1 <& Y4 21.0
1 PR A LZHFIVYY 0.8 10.4 15.6
V2 hR ALY TIID 0.8 48.0 56.0
3 R A LSHFIVYD 0.8 40.6 51.0
V4 AR A LZHFIVYY 0.8 47.9 59.2
5 R ALY IID 0.7 8.3 10.8
6 R ALY XIID 0.7 117.8 183.0




FiE-Z2F HE—E

01 RILEH/H

X AR=1 5 60cm LA _E3mR il {EAR=#E60cmRKili &= %F

No E & BiTE = o (m) mE () fr AR 3R () i
V7 K FALSHFIID 0.7 28.6 57.2
V8 BEXR FHLZHFIUY 0.5 57.6
9 R AALSIHFXYID 1.1 14.9 26.9

A =zl N WINFE 0.9 4.0 11.2




BAR-ARER

02 T HEBERESZREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

HE—%

No EH HiiE Eam)  BAGADH) #%E
Al B R TA¥ 0.9
al th R ToHA 0.6
A2 AR TAE 0.9
B B R AXIG 1.2
b1 = A AF3av 4.2 0.90
B2 B R AV 2.0
b2 =K AF3aw 42 0.90
B3 B R AV 2.2
cl =N AONEZD 36 0.39
c2 =N AONEZD 42 0.60
c3 =N AONEZD 3.0 0.30
c4 =N AONEZD 3.0 0.60
c5 =N AONEZD 3.2 0.90
c6 hAR AONESD 2.7
D7 == N YINF 2.5
D10 hR YINF 24
D11 hR YINF 1.7
D12 hR YINF 1.8
D13 hR YINF 1.6
D14 hR YINF 1.7
D15 R YINF 14
D16 hR YINF 1.4
D17 hR YINF 15
D18 hR YINF 1.6
D19 hR YINF 2.6
D2 hR WINFE 2.2
D20 hR YINF 2.6
D21 hR YINF 2.6
D3 =2 N I 1.3
D4 =2 N I 1.3
D5 =2 N I 1.8
D6 =2 N I 1.4
D7 =/ N VAE 3.2 0.30
D8 =/ N VAE 3.2 0.30
D9 =/ N VIAE 3.2 0.30
El =R FUEGEA 35 0.40
el =K =y JAV'S 38 1.20
E10 R XUEIEA 15
E11 R XUEIEA 15
E12 R XUEIEA 15
E13 R XUEIEA 15
E14 R XUEIEA 15
E15 R XUEIEA 15
E16 R FUEIEA 15




BAR-PAR-ER RE—E

02 T HEBERESZREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EHR HiiE Eam)  BAGADH) %
E17 thoK *UEYEA 15
E18 thoK *UEYEA 15
E19 thoK *UEYEA 15
E2 AR FUEIEA 2.7
E20 th R *oEYIEA 2.0
E21 AR FUEIEA 1.5
E22 AR FUEIEA 1.5
E23 AR FUEIEA 1.5
E3 hR XUEIEA 24
E4 hR XUEIEA 1.4
E5 hR XUEIEA 1.4
E6 hR XUEIEA 1.4
E7 hR XUEIEA 15
E8 hR XUEIEA 15
E9 hR XUEIEA 15
F1 =R oy VES 8.6 1.20
f1 (=1 N INTINA 3.7 1.20
J1 (=% N HOHRETF 42 0.50
j1 hR AL/ 0.8
10 =R YA/ 35 1.20
11 =R YA/ 42 1.20
j12 =R YA/ 8.2 2.40
j13 =R YA/ 9.2 2.70
j14 =R YA/ 9.2 1.80
i15 = A AL/ 9.0 2.00
i16 = A AL/ 5.0 1.50
17 = A AL/ 3.0 0.60
i18 = A AL/ 3.0 0.90
i19 = A AL/ 5.0 1.40
j2 =R YA/ 9.0 2.70
20 = A AL/ 40 1.40
j21 = A AL/ 5.0 1.80
j22 = AR JA(I/ 35 0.90
23 = AR JA(I/ 6.0 1.80
24 AR YA/ 2.2
25 =R YA/ 40 0.60
j26 = AR JA(I/ 8.0 1.50
j27 =R YA/ 49 0.90
28 = AR JA(IT/ 6.6 1.20
j3 = A JAIT/ 9.0 1.60
j4 = A JA(I ) 7.0 1.80
5 = A JA(I ) 6.5 1.20
j6 = A YA/ 45 0.90
7 R YA/ 2.6




BAR-PAR-ER RE—E

02 T HEBERESZREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

No EHR HiiE Eam)  BAGADH) %
i8 =mA VERE 36 1.20
9 =mA YA/ 3.2 0.90
K1 th R HHh 2.3
L7 oK VIV Y 15
N1 =mA ohY 33 0.30
R1 AR FoTY 1.2
s R HELYHS 0.9
Y B R FRAIEF 15
S2 =R FRAIEF 3.7 0.90
S3 =R FRAIEF 40 0.30
S4 =R +RAIEF 45 0.80
S5 B R FRAIEF 1.3
S6 hR FRAIEF 1.3
S7 hR FRAIEF 2.2
t1 K EES 2.0
ZT1 =2y N aA 0.9
22 R > aA 0.6
Z3 =K > aA 35 0.60
Z4 R > aA 038
Z5 R > aA 2.8
26 =P N > aA 35 0.50
27 =P N > aA 5.2 0.50
LM =R hAIh4T+ 3.0 0.30
LMo B R hAIh4T+ 2.7
LM B R hAIh4T+ 2.7
L2 B R hAIh4T+ 2.7
LM3 B R hAIh4T+ 2.7
L4 B R hAIh4T+ 2.7
LM5 B R hAIh4T+ 2.7
LM16 =R hAIh4T+ 3.1 0.50
LMi8 =R hAIh4T+ 3.1 0.50
L9 =R hAIh4T+ 35 0.60
L2 = AR hAIh4T+ 3.2 0.60
V20 =R AT hA4T+ 35 0.60
Lh21 =R AT hA4T+ 35 0.60
Lh22 =R AT hA4T+ 35 0.60
LV23 =R AT hA4T+ 35 0.60
24 R AT hA4T+ 2.4
V25 R AT hA4T+ 2.4
L3 AR AT h4T+ 2.4
L V4 =R HhAIh4T+ 33 0.60
L5 = A hAIh4T+ 35 0.60
L\6 AR AT h4T+ 2.7
L7 AR hAIh4T+ 2.7




BAR-ARER

02 T HEBERESZREHA

KEA=REImLE PAR=#E60cmLl E3ImK i {EAKR=155=60cm* i

AE—E

No EHR HiiE Eam)  BAGADH) %

L8 R hAIh4Tx 2.7

(AY:] R hAIh4A4Tx 2.7

& =mA EXSVAY 5.4 0.72
&E10 =mA EXSVAY 5.2 0.60
&1 =mA EXSVAY 5.2 0.59
&2 =mA EXSVAY 5.2 0.60
&13 =mA EXSVAY 5.2 0.60
14 =mA EXSVAY 5.2 0.58
&15 =R EXSVRE 5.2 0.60
k16 =R EXSVRE 5.2 0.61
&7 =R EXSVRE 5.2 0.62
&18 =R EXZVRE 5.2 0.60
&19 =R EXSVRE 5.2 0.62
&2 = A EXSVRE 5.0 0.60
&20 =R EXSVRE 5.2 0.61
&21 =R EXSVRE 5.2 0.60
&22 =R EXSVRE 5.2 0.60
&23 =R EXSVRE 5.2 0.58
&24 =R EXSVRE 5.2 0.62
&25 =R EXTVRAE 5.2 0.61
&26 =R EXSVRAE 5.2 0.60
&27 =R EXSVRAY 5.2 0.59
&28 =R EXSVRAY 5.0 0.60
&29 =R EXSVRAYE 5.0 0.61
&3 =R EXSVRAY 48 0.60
&30 =R EXSVRAY 5.0 0.62
&31 =R EXSVRAY 5.0 0.59
&32 =R EXSVRAY 5.0 0.60
£33 =R EXSVRAYE 5.0 0.60
&34 =R EXTVRY 5.0 0.59
&35 =R EXSVRAY 5.0 0.58
&36 =R EXSVRE 5.0 0.60
&37 =R EXSVRAYE 5.0 0.60
£38 =R EXSVRAYE 5.0 0.61
&39 =R EXTVRAYE 5.0 0.60
&4 =R EXSVRAYE 43 0.38
&40 =R EXTVRAYE 5.0 0.59
&M =R EXTVRAYE 5.0 0.60
&43 =R EXTVRAYE 5.0 0.60
a4 =R EXTVRAY 5.0 0.60
k45 =R EXTVRAY 6.5 1.20
k46 =R EXTVRAY 5.0 0.80
k47 =R EXTVRAY 5.0 0.80
k48 = EXTVRAY 5.0 0.80




BAR-PAR-ER RE—E

02 T HEBERESZREHA

XEmA=BEImU L FAR=#E60cml E3mEiHE EAR=1E60cmEH

&49 =mA EXSVAY 5.0 0.80
&5 =mA EXTSVRE 46 0.60
&51 =mA EXSVAY 5.0 0.80
&52 =mA EXSVAY 5.0 0.60
&53 =mA EXSVAY 4.2 0.70
&54 =mA EXSVAY 4.2 0.70
&55 =mA EXSVAY 4.2 0.70
&56 =mA EXSVAY 4.2 0.70
L6 = A EXSVRE 5.0 0.60
&7 = EXSVRE 5.0 0.60
&8 = A EXSVRE 5.2 0.60
(21 = A¥ 35 0.6
(22 = A A¥ 35 0.6
aY R FA4YkHE 2.4
82 = FA4YkHE 3.0 0.40
(X1 hR Ha<y 2.2
(%2 =R Ha<y 40 05
(%3 =R A<y 45 0.7
AT =2y N E/% 1.7
~A10 =2y N E/% 1.7
~A11 =z]y N E/% 1.7
~12 =z]y N E/% 1.8
~13 =z]y N E/% 1.7
~14 =z]y N E/% 1.7
~15 =z]y N E/% 2.2
~16 =z]y N E/% 2.1
~17 =z]y N E/% 2.3
~2 =z]y N E/% 1.7
~3 =z]y N E/% 1.8
~4 =z]y N E/% 1.7
~5 =z]y N E/% 1.7
~6 =z]y N E/% 20
~7 =R E/% 40 0.60
~8 =2}y N E/& 1.8
~9 =2}y N E/& 2.2
(X1 =R BN 3.3 0.3
(%2 =R BN 3.3 0.3
(%3 =R BN 45 0.6
(X4 R E/N 25
(X5 R E/N 25
(X6 R E/N 25
(X7 R E/N 2.0
Y1 R ES Y 2.2
Y2 R ARGy 2.2




BAR-PAR-ER RE—E

02 T HEBERESZREHA

MEA=HEIMLLLE BAR=HEEZ60cmLl L3mkiE {EAR=1=60cm*kiHE

No EE HiE Bam) RBREAGAROH) &5
Y3 B R AXHY 2.2
Y4 = A AXHY 3.1 0.30
Y5 = A NE Yy 3.1 0.30
Y6 B R AXHY 2.6
Y7 B R AXAY 1.5
Ys B R AXHY 25




HiE-2F RE-ERX
02 LT HBEBEKREBESHZRSBHEM
e A=H7600m L E3mK i {EA=HE60omKiH F=Z %
No TR BiE =1 =(m) EE(n) fr K 5 E () &=

11 R AXYY 1.0 0.8 44
110 hR AXYY 0.9 0.8 4.1
111 R AXIY 0.7 0.7 5.9
112 FAR AXYY 0.9 345 56.7
113 R AXYY 0.8 52.0 78.7
114 R AXYY 1.3 49.2 78.0
115 R AV 0.8 05 25
116 R AXYY 1.3 15 6.7
117 R AXYY 0.9 0.8 4.1
118 R AV 0.9 1.1 40
119 R AXYY 1.9 1.0 10.5
12 R AXYY 0.8 0.7 3.7
120 R AXIY 0.7 0.3 14
121 R AXIY 1.5 1.5 6.8
122 R AXIY 0.8 05 2.1
123 R AXIY 0.9 1.1 40
124 R AV 1.0 1.1 43
125 R AXIY 1.0 1.3 46
126 R AXYY 0.9 1.3 42
127 R AV 1.0 1.3 46
128 R AXIY 0.6 0.3 1.9
129 R AXYY 0.9 0.8 3.1
13 R AXIY 0.8 2.0 6.8
130 R AXYY 0.9 0.8 3.1
131 R AXYY 0.9 0.8 3.1
132 R AXIY 1.0 0.8 33
133 FAR AXYY 1.0 15 55
134 R AXIY 1.0 15 55
135 R AXIY 1.0 42 10.4
136 R AV 0.7 3.0 4.1
137 R AXIY 1.1 1.8 6.0
14 R AXYY 0.7 2.6 7.6
15 R AXIY 0.6 1.0 3.4
16 PR AXYY 0.6 05 2.3
17 hR AXYY 10 16.0 28.0
18 R AXIY 14 110.0 264.0
19 PR AXYY 0.5 0.9 3.2
H1 EXR HhAIh14TFx 05 05

#5110 R H1Ih4T+x 0.5 0.3

H11 ER HAIh4T+x 0.5 0.3

H12 AR HAIh4T+x 0.5 0.3

5113 EXR HhAIh14TFx 05 0.3

H14 ER HAIh4T+x 0.5 0.7

H15 PR HAIh4T+x 0.6 0.4 0.6
H2 R HhAIhA4TFx 0.6 42 7.9
3 ER HAIh4T+x 0.5 1.5

H4 ER HAIh4T+x 0.4 0.3

15 R HhAIhA4TFx 0.7 0.4 35
56 ER 1 Ih4T+x 0.5 0.5

H7 AR HAIh4T+x 0.6 05 2.9
18 EAR A IhA4TFx 0.5 0.5

$9 EAR HAIh4T+x 0.5 0.3




HiE-2%E FAE—ER
02 LT HBEBEKREBESHZRSBHEM
e A=H7600m L E3mK i {EA=HE60omKiH F=Z %
No TR BE =1 =(m) EE(n) K 5 E () &=

410 fAR YU UvD 0.6 2.0 5.0
T 11 EXR wAVE VA 0.5 2.5

12 R YYD 0.8 108.0 206.9
413 R AL AP 0.7 2.5 7.1
414 R WAVE VAP 0.6 9.6 17.9
15 R HUXxIYD 0.6 35 8.5
416 R AL A% 0.7 5.4 13.9
H17 EXR VAL AP 0.5 8.4

18 R wAVE VAP 0.6 22.0 36.6
19 EX AL A% 05 35

420 EXR AL AP 0.5 7.0

21 R wAVE VAP 0.6 0.5 2.3
422 R LA 0.6 05 2.3
423 R AL AP 0.6 05 2.3
24 =P/ N WAVE VAP 0.6 0.5 2.3
125 R HUxUUD 0.6 0.3 1.9
426 R LA 0.6 0.4 2.1
27 R I IID 0.6 0.5 2.3
428 R HUXxIYD 0.6 0.5 23
429 R AL AP 0.6 05 2.3
3 R VAL AP 0.6 4.0 7.6
430 R wAVE VAP 0.6 0.5 2.3
31 R AL A% 0.6 05 2.3
432 R YD 0.6 05 2.3
433 =/ N WAVE AP 0.6 0.5 2.3
134 EX YYD 0.5 0.5

435 R AL AP 0.6 40.0 50.8
436 EXR WAVE VAP 0.4 0.2

437 EX HUxUUD 0.5 0.1

438 EX LA 0.4 0.3

439 EXR I IIT 0.5 0.1

4 R YYD 0.6 7.2 12.7
+40 EXR AL A% 0.4 0.1

41 EXR AL AP 0.4 0.1

42 EXR wAVE VAP 0.5 0.2

43 R YUY 0.6 6.8 10.0
44 EXR AL AP 0.5 0.3

45 EXR wAYE VA 0.5 0.3

146 EX YYD 0.5 0.3

47 EXR AL AP 05 0.3

48 K I IID 0.6 2.0 5.6
5 EX YYD 0.5 7.6

6 EXR LA 0.4 0.7

7 EXR AL AP 0.4 0.7

8 EX wAVE VAP 0.5 11.0

9 R LA 0.6 95.0 127.3
Z1 A ZA 8.0

Z2 a3 D7A 8.0

Z3 % N 46

Z4 = PZA 10.5

Z5 & N 30.0

26 <& DA 12.0
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02 LT HBEBEKREBESHZRSBHEM
X AR=#E60cmll E3mKi#E EAR=#Z60cmEKiH T=-ZF
No TR BE =1 =(m) EE(n) K 5 E () &=

P a3 ZA 13.0

Z8 a3 DA 3.0

Z9 % N 70

1 R A LZHFIVYY 1.2 45.0 155.4
Y10 R ALY IID 0.9 2.0 6.5
Y11 R ALY XIID 0.6 34 6.8
V12 R FALZHFIVUY 0.9 17.0 28.0
W13 R ALY IID 0.6 0.3 40
V14 R ALY FIID 1.2 2.0 8.0
Y15 R AALZH IV 1.2 2.0 5.6
16 AR A LZHFIVYY 1.0 2.0 5.0
W17 R ALY FIID 1.2 2.0 5.6
V18 R T LFHXIVYD 1.0 5.0 17.0
V2 R A LSHFIID 0.7 1.0 38
V3 R ALY IID 0.9 0.8 46
V4 R A LSHXIVYD 0.9 0.6 3.7
5 R ALY FIID 0.9 6.0 18.6
6 R ALY IIY 1.0 05 35
U7 R ALY XIID 1.0 05 35
8 R FALZHFIVUY 1.1 2.4 14.1
9 R ALY IIY 0.7 35.0 50.2
~1 AR (N2 AN 1.1 1.0 6.5
K10 R (NP 0.6 0.3 2.3
K11 R NPE AN 0.9 0.8 40
K12 PR (N2 SIS 0.9 0.8 4.0
K13 AR (NP 0.9 0.8 4.0
K14 AR (NP 0.9 0.8 4.0
K15 AR (N2 BAVAIS 0.7 0.4 2.4
K16 R (NI 0.7 0.6 3.3
K17 R NPE AN 0.7 0.9 46
K18 R NPE PN 0.7 05 2.8
K19 PR (N2 SRV 0.7 05 2.8
K2 R (NP 0.8 21.0 38.7
K20 =P N NPE AN 0.7 05 2.8
K21 PR (N2 SIS 0.9 0.7 5.4
K22 R NP 0.9 0.7 5.4
K23 R NPE AN 0.9 0.7 5.4
K24 AR (N2 SIS 0.9 0.7 5.4
K25 AR (N PAND 0.9 0.7 5.4
K26 AR (NP 0.9 0.7 5.4
k3 hR NPE AN 0.8 18.0 28.4
~4 R (N2 RIS 0.8 10.0 17.2
K5 R (N PR 0.7 05 43
K6 R (NP 0.9 0.8 8.4
k7 AR (N2 AN 0.7 0.5 43
K8 R (N PRI 1.1 15 5.9
K9 R (NP 0.6 0.3 2.3
=1 R el o A 1.2 1.50 6.3
=2 R —AAEeN 1.3 1.50 6.7
=3 R b o A 1.6 2.50 12.1
=4 R el o <A 1.6 2.50 12.1
=5 R —FqeN 1.6 2.50 12.1
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X AR=1 5 60cm LA _E3mR il {EAR=#E60cmRKili &= %F

No TR BE =1 =(m) EE(n) K 5 E () &=
=6 hAR —AAEeN 1.6 2.50 12.1
=7 R el o (A 1.6 2.50 12.1
=8 R —FAEN 1.6 8.40 12.1
=9 R —FAEeN 1.4 6.00 17.2
A a3 NExOTY 15
1 R X IR 0.6 1.1 4.0
32 R Fr IRy 0.6 0.4 2.0
33 AR Fr IRy 0.6 0.6 1.2
F4 R X IR 0.6 0.6 1.2
55 R Fr IRy 0.6 6.0 16.8
56 PR Fr IRy 0.6 0.9 2.2

37 R FrIRY 0.9 15 40




